

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

#### Bill To:

Val Energy, Inc. 200 W. Douglas STE #520 Wichita, KS 67202

### INVOICE

Invoice Number: 143387

Invoice Date: May 18, 2014

Page:

1

#### RECEIVED

JUN 0 4 2014

Customer ID	Field Ticket #	Payment Terms  Net 30 Days	
Val	62500		
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	May 18, 2014	6/17/14

Quantity	Item	1	Description	Unit Price	Amount
1.00	WELLNAME		Beach Brothers #1-12		
132.00	CEMENT MATERIAL	LS	Class A Common	17.90	2,362.80
88.00	CEMENT MATERIAL	LS	Pozmix	9.35	822.80
8.00	CEMENT MATERIAL	LS	Pozmix Gel 9233	23.40	187.20
55.00	CEMENT MATERIAL	LS	Flo Seal	2.97	163.35
236.27	CEMENT SERVICE		Cubic Feet Charge	2.48	585.95
345.10	CEMENT SERVICE		Ton Mileage Charge	2.60	897.26
1.00	CEMENT SERVICE		Plug to Abandon	2,483.59	2,483.59
35.00	CEMENT SERVICE		Pump Truck Mileage	7.70	269.50
35.00	CEMENT SERVICE		Light Vehicle Mileage	4.40	154.00
1.00	EQUIPMENT SALES	S	8-5/8 Dry Hole Plug	110.00	110.00
1.00	CEMENT SUPERVIS	SOR	Andrew Forslund		
1.00	EQUIPMENT OPER	ATOR	Wayne McGhghy		
				=	
			Subtotal		8 036 4

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1,585.28

ONLY IF PAID ON OR BEFORE

Jun 17, 2014

Subtotal	8,036.45
Sales Tax	574.61
Total Invoice Amount	8,611.06
Payment/Credit Applied	
TOTAL	8,611.06

## ALLIED OIL & GAS SERVICES, LLC 062500

Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092 SERVICE POINT:

A STATE OF THE STA							/
DATE 5-18-14 SEC.	12 TWP. 8	RANGE 36	CALLED OUT	ON LOC	20 An	JOB START	JOB FINISH
LEASE WEL	L# 1-12		YOUT EXIT		,	COUNTY	STATE
OLD OR NEW (Circle or	ne)	Vy N Wi	77				
CONTRACTOR V9	7 745			6-			
TYPE OF JOB	TA		OWNER	Same			
HOLE SIZE 7	Joseph W. Committee Commit	1.00-1	CEMENT				
CASING SIZE		1-1-1-1	CEMENT		770	1. 60%	
TUBING SIZE ,	DEP		AMOUNT	OKDERED .	7700	KS MO	42gel
DRILL PIPE 4/2	DEP		14 Flo-	segi			
TOOL		TH 2870'	_				
PRES. MAX	DEP			122		- 120	-2/2 00
MEAS. LINE		IMUM		1325		@ 17,50	23.2.80
CEMENT LEFT IN CSG		E JOINT	POZMIX			@ 4/35	822,80
PERFS.	-		GEL	8 5%			182,20
DISPLACEMENT	***		CHLORIDI	5		@	
Mark Contract Contracts		-	ASC			@	
- F	EQUIPMENT		11	-		@	7.
	141 / AT		Flo-se	90 5		@297	163.35
PUMPTRUCK CEME	NTER And	rew torsky	nc IVI	S II T		@	
# 4/3/ HELP				ick la		@	35%.15
BULK TRUCK			f-100	12/202	1	@	
#34/ DRIV	ER Enrig	1. 10 Tus	(1150	0/0/16		@	-
BULK TRUCK	- 0	at the	<i></i>	So	mino	@	
# DRIV	ER			001	DIC 4	@	
							585,94
			MILEAGE	Dela Ica	mile	9.86 Ton	897,26
	REMARKS:						
25 545 6, 28	201						
100 sks @ 20	801						
40 sks @, 3	651	- A S C C - V S C V				- 1	
10 sks @	40'		DEPTH OF	IOR	2870	/	The second second
	ebole			CK CHARG		7	483,59
30 Sks Rath	ole	The same and the s	EXTRA FO			@	700,07
				35 mile			269,50
4. 6.		Millian and the Control of the	- MANIFOLI			@	361130
7/	ank you		Lightve				154,00
1"	ian jou	1	Eign DE	ricce		@ <u>777</u> 2	134,00
CHARGE TO: Val	C			/	1	<u> </u>	
CHARGE TO: Val a	ergy	and the second second second	- 18-28	05/200	3/		11000
STREET	,		(0,0	eree:		TOTAL	4,3900
							The state of the s
CITY	STATE	ZIP		DI IIC e	ELOIM	POTUDADA	ion.
				PLUG &	FLOAI	EQUIPMEN	1
			8+8				
			1 Dry be	le Plug		@	110,00
				0		@	
To: Allied Oil & Gas So	ervices, LLC.					@	
You are hereby requeste		enting equipmen	t			@	1
and furnish cementer ar	nd helper(s) to	assist owner or				@	1451
contractor to do work a			. /	151			
				10		TOTAL	110.00
done to satisfaction and						TOTAL	110
contractor. I have read				V (If Ann)			
TERMS AND CONDIT	TIONS" listed	on the reverse si	de. SALES IA	(If Any)_	0 . 0		
S - Control of the Co	- 1	11	TOTAL CH	ARGES	2096	.49	
PRINTED NAME	imes Sh	ulto	2 12 D	1 507	78/	427	
FKINIED NAME_ SM	mcs C m	1.5	DISCOUNT	1,597.	10/0	IF PAI	D IN 30 DAYS
_	22			6	4991	5 Net	
SIGNATURE	2000			01	,,,,,	100	
	-	-					



PO Box 93999 Southlake, TX 76092

Voice: (8 Fax: (8

(817) 546-7282 (817) 246-3361

#### Bill To:

Val Energy, Inc. 200 W. Douglas STE #520 Wichita, KS 67202

### INVOICE

Invoice Number: 143061
Invoice Date: May 8, 2014

Page: 1

RECEIVED MAY 1 9 2014

Customer ID	Field Ticket #	Payment Terms  Net 30 Days	
Val	62066		
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	May 8, 2014	6/7/14

Quantity	Item		Description	Unit Price	Amount
1.00	WELLNAME	Beach Brothers #1-12			_
195.00	CEMENT MATERIALS	Class A Common		17.90	3,490.50
4.00	CEMENT MATERIALS	Gel	9706	23.4	93.60
7.00	CEMENT MATERIALS	Chloride	9208 Bursace Coment	64.0	448.00
211.18	CEMENT SERVICE	Cubic Feet Charge	Cent	2.4	523.73
336.70	CEMENT SERVICE	Ton Mileage Charge	Purjan	2.6	875.42
1.00	CEMENT SERVICE	Surface		1,512.2	5 1,512.25
35.00	CEMENT SERVICE	Pump Truck Mileage		7.7	269.50
	CEMENT SERVICE	Manifold Rental No Charg	ge		
	CEMENT SERVICE	Light Vehicle Mileage		4.4	154.00
	CEMENT SUPERVISOR	Talon Jones			_
	CEMENT SUPERVISOR	Andrew Forslund			
				9,	
		_			
		_			
					7 007 00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,473.40

ONLY IF PAID ON OR BEFORE
Jun 2, 2014

Subtotal	7,367.00
Sales Tax	288.30
Total Invoice Amount	7,655.30
Payment/Credit Applied	
TOTAL	7,655.30

# ALLIED OIL & GAS SERVICES, LLC 062066 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092

SERVICE POINT:	
Orable 4	40

			Outl	cyts
DATE 2 8-19 12 8 36	ALLED OUT	ONLOCATION	JOB START 230 Pm	JOB FINISH 300pm
Brach Bros. WELL# 1-12 LOCATION Labour	- K- 41.	24.	COUNTY	STATE
OLD OR (NEW) (Circle one) Smi N& W		270	Thomas	ks
	1400	***	J	
CONTRACTOR Va.	OWNER -	Same		
TYPE OF JOB Surface				
HOLE SIZE 12/4 T.D. 3/5	CEMENT	10		
CASING SIZE 85/9 DEPTH 3/9	AMOUNT OF	RDERED _ 195	SKS Com	
TUBING SIZE DEPTH	3%.00	2%. Gel		
DRILL PIPE DEPTH				
TOOL DEPTH				
PRES. MAX MINIMUM	COMMON_	195 sbs	@ 17.90	3490,30
MEAS, LINE SHOE JOINT	POZMIX _		@	
CEMENT LEFT IN CSG. 15 56	GEL	4	@ 23.40	93.60
PERFS.	CHLORIDE	7	@ 64,00	448.00
DISPLACEMENT /9.3(	ASC		@	
EQUIPMENT		1 1 1	@'	
	_//lat	rial Inta	@	40.32.10
DUMPTRUCK CEMENTER TIL. T			]@	- Contract of the Contract of
PUMPTRUCK CEMENTER Talon Jones	1800	5 42/2021		
# 431 HELPER Andrew Forsland	C	77	_@	
BULK TRUCK			@	1 1 - OTT
# 8/8 DRIVER Juan =1			@	
BULK TRUCK			@	
# DRIVER	HANDLING	211, 18 cus	1@ 2.48	523.73
	MILEAGE _	9.62 ton x.35	mie 2,40	875.4
REMARKS:			TOTAL	
m:x 195 sks @, 315ft			IOIAL	-
		OF DAVI	CII)	
Cement did circulate		SERVI	CE	
	DEPTH OF J	OR		
		K CHARGE		15/2.25
	EXTRA FOO	CONTRACTOR SOCIETY OF THE SECOND	@	,-,,
		H.V 35 mi	@ 7.70	269.5
	and the second s	- Stock - Company	@ N/C	275.00
	MANIFOLD light of			154.00
	- igm a	my m. 35		121,
11/		,		
CHARGE TO: Val Energy	/	11/98/21	15/	2 32110
STREET	6	666, 10/00	TOTAL	2,007.0
STREET				
CITYSTATEZIP		DI HO C EL OL	TO POSITIONALES	.tor
		PLUG & FLOA	LEQUIPMEN	VI.
			@	
To: Allied Oil & Gas Services, LLC.			@	
		4		
You are hereby requested to rent cementing equipment	3-			
and furnish cementer and helper(s) to assist owner or			- 100	
contractor to do work as is listed. The above work was			TOTAL	
done to satisfaction and supervision of owner agent or			IOIAI	
contractor. I have read and understand the "GENERAL				
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX	-9	200	
	TOTAL CH/	ARGES 7.06	1.00	
Tames Slaults		1473.46 (2		ID IN 20 D 11/0
PRINTED NAME JAVARS Shutte		The state of the s	and a	ID IN 30 DAYS
acquerus \$0 dl		51893.60	o Net.	